

On (a, B, c) -ideals in Banach spaces

KSENIJA NIGLAS AND INDREK ZOLK

ABSTRACT. In this paper we focus on subspaces of Banach spaces that are (a, B, c) -ideals. We study (a, B, c) -ideals in ℓ_∞^2 and present easily verifiable conditions for a subspace of ℓ_∞^2 to be an (a, B, c) -ideal. Our main results concern the transitivity of (a, B, c) -ideals. We show that if X is an (a, B, c) -ideal in Y and Y is a (d, E, f) -ideal in Z , then X is a certain type of ideal in Z . Relying on this result, we show that if X is an (a, B, c) -ideal in its bidual, then X is a certain type of ideal in $X^{(2n)}$ for every $n \in \mathbb{N}$.

1. Introduction

Let \mathbb{K} be \mathbb{R} or \mathbb{C} . Throughout this paper, $B \subset \mathbb{K}$ will be a compact set and $a, c \geq 0$.

A closed subspace Y of a Banach space X is said to be an *ideal* in X if there is a norm one projection P on X^* such that $\ker P = Y^\perp$, where Y^\perp denotes the annihilator of Y . In this case the projection P is called an *ideal projection*. If, in addition,

$$\|ax^* + bPx^*\| + c\|Px^*\| \leq \|x^*\| \quad \forall b \in B$$

holds for all x^* in X^* , then Y is said to be an (a, B, c) -ideal in X .

This approach was first suggested by Eve Oja in [10] (see also [9]) and later formalized in [11]. It is meant to encompass all previously studied special cases of ideals: M -ideals (which are $(1, \{-1\}, 1)$ -ideals; first introduced in [1]), u -ideals ($(1, \{-2\}, 0)$ -ideals; [2]), h -ideals ($(1, \{-(1 + \lambda) : \lambda \in S_{\mathbb{C}}\}, 0)$ -ideals; [5], see also [4]), $M(r, s)$ -ideals ($(s, \{-s\}, r)$ -ideals; [7], [12], introduced as *ideals satisfying the $M(r, s)$ -inequality* in [3]).

For every $n \in \mathbb{N}$, we denote by $X^{(n)} = \left(X^{(n-1)}\right)^*$, where $X^{(0)} = X$. We denote the closed unit ball of a Banach space X by B_X .

Received December 29, 2013.

2010 *Mathematics Subject Classification*. 46B20.

Key words and phrases. Banach spaces, (a, B, c) -ideals.

<http://dx.doi.org/10.12097/ACUTM.2014.18.11>

2. (a, B, c) -structure of ℓ_∞^2

In this section, we study the (a, B, c) -structure of ℓ_∞^2 . We present necessary and sufficient conditions for a one-dimensional subspace of ℓ_∞^2 to be an (a, B, c) -ideal in ℓ_∞^2 . Throughout this section, we shall denote $Y_k = \{(\xi, k\xi) : \xi \in \mathbb{R}\}$ and $Y_\infty = \{(0, \xi) : \xi \in \mathbb{R}\}$.

In order to obtain these results we first focus on ideal projections in ℓ_∞^2 .

Proposition 2.1. *Let $k \in \mathbb{R}$. If Y_k is an ideal in ℓ_∞^2 with respect to some ideal projection P , then $P \in \{P_{x,k}, P_{y,k}\} \cup \{P_{d^+} : d \geq 0\} \cup \{P_{d^-} : d \leq 0\}$, where*

$$P_{x,k} : \ell_2^1 \ni (\alpha_1, \alpha_2) \mapsto (\alpha_1 + k\alpha_2, 0) \in \ell_2^1,$$

$$P_{y,k} : \ell_2^1 \ni (\alpha_1, \alpha_2) \mapsto \left(0, \frac{\alpha_1 + k\alpha_2}{k}\right) \in \ell_2^1,$$

$$P_{d^+} : \ell_2^1 \ni (\alpha_1, \alpha_2) \mapsto \left(\frac{\alpha_1 + \alpha_2}{d+1}, \frac{d(\alpha_1 + \alpha_2)}{d+1}\right) \in \ell_2^1, \quad d \geq 0,$$

$$P_{d^-} : \ell_2^1 \ni (\alpha_1, \alpha_2) \mapsto \left(\frac{\alpha_1 - \alpha_2}{1-d}, \frac{d(\alpha_1 - \alpha_2)}{1-d}\right) \in \ell_2^1, \quad d \leq 0.$$

Proof. Let Y_k be an ideal in ℓ_∞^2 and let P be the corresponding ideal projection, then $\ker P = Y_k^\perp = \{(-k\alpha, \alpha) : \alpha \in \mathbb{R}\}$. By the rank-nullity theorem, we can choose $(u, v) \in \ell_2^1$ such that $\text{ran } P = \{\lambda(u, v) : \lambda \in \mathbb{R}\}$. For every $(\alpha_1, \alpha_2) \in \ell_2^1$, we can write

$$(\alpha_1, \alpha_2) = \frac{\alpha_2 u - \alpha_1 v}{u + kv}(-k, 1) + \frac{\alpha_1 + k\alpha_2}{u + kv}(u, v), \quad (\alpha_1, \alpha_2) \in \ell_2^1$$

and hence

$$P(\alpha_1, \alpha_2) = \frac{\alpha_1 + k\alpha_2}{u + kv}(u, v), \quad (\alpha_1, \alpha_2) \in \ell_2^1.$$

1. In case $v = 0$, we have

$$P(\alpha_1, \alpha_2) = (\alpha_1 + k\alpha_2, 0), \quad (\alpha_1, \alpha_2) \in \ell_2^1.$$

Since an ideal projection has norm one, we demand that

$$\sup_{|\alpha_1| + |\alpha_2| \leq 1} |\alpha_1 + k\alpha_2| = 1.$$

It is easy to see that this is true if and only if $|k| \leq 1$, which means that $P = P_{x,k}$ is an ideal projection if and only if $|k| \leq 1$.

2. Proceeding similarly in case $u = 0$, we obtain that $P_{y,k}$ is an ideal projection if and only if $|k| \geq 1$.

3. Assume $u \neq 0$, $v \neq 0$ and denote $d = \frac{v}{u}$. We can write

$$P(\alpha_1, \alpha_2) = \left(\frac{\alpha_1 + k\alpha_2}{1 + kd}, \frac{d(\alpha_1 + k\alpha_2)}{1 + kd}\right), \quad (\alpha_1, \alpha_2) \in \ell_2^1.$$

It is easy to see that in case $|k| \geq 1$ ($|k| \leq 1$) demanding $\|P\| = 1$ yields $|k|(1 + |d|) = |1 + kd|$ ($1 + |d| = |1 + kd|$), which, in turn, means that $|k| = 1$.

Now if $k = 1$ we have

$$1 = \|P\| = \sup_{|\alpha_1| + |\alpha_2| \leq 1} \left\| \left(\frac{d(\alpha_1 + \alpha_2)}{d + 1}, \frac{\alpha_1 + \alpha_2}{d + 1} \right) \right\| = \frac{|d| + 1}{|d + 1|}$$

which holds only for $d \geq 0$. Hence if $k = 1$, P is an ideal projection if and only if $d \geq 0$ and in this case $P = P_{d^+}$. The case $k = -1$ is analogous. \square

Remark 2.2. As we saw in the proof of Proposition 2.1, the following assertions hold.

- (1) $P_{x,k}$ is an ideal projection if and only if $|k| \geq 1$,
- (2) $P_{y,k}$ is an ideal projection if and only if $|k| \leq 1$,
- (3) P_{d^+} is an ideal projection for some $d \geq 0$ if and only if $k = 1$,
- (4) P_{d^-} is an ideal projection for some $d \leq 0$ if and only if $k = -1$.

The following proposition can be proven in a manner similar to Proposition 2.1.

Proposition 2.3. *If Y_∞ is an ideal in ℓ_∞^2 with respect to an ideal projection P , then $P = P_\infty$, where*

$$P_\infty : \ell_2^1 \ni (\alpha_1, \alpha_2) \mapsto (0, \alpha_2) \in \ell_2^1.$$

Knowing the form of ideal projections in ℓ_∞^2 , we can now derive necessary and sufficient conditions for a subspace of ℓ_∞^2 to be an (a, B, c) -ideal. For the sake of convenience, we shall handle each ideal projection separately.

Proposition 2.4. *Y_k is an (a, B, c) -ideal in ℓ_∞^2 with respect to ideal projection $P_{x,k}$ if and only if $|k| \leq 1$ and*

$$\begin{cases} a + |b||k| + c|k| \leq 1 & \forall b \in B, \\ |a + b| + c \leq 1 & \forall b \in B. \end{cases} \tag{1}$$

Proof. By Remark 2.2, $P_{x,k}$ is an ideal projection if and only if $|k| \leq 1$.

Let $|k| \leq 1$. Note that for every $(\alpha_1, \alpha_2) \in \ell_1^2$ and every $b \in B$ we have

$$\begin{aligned} & \|a(\alpha_1, \alpha_2) + bP_{x,k}(\alpha_1, \alpha_2)\| + c\|P_{x,k}(\alpha_1, \alpha_2)\| \\ &= \|(a\alpha_1, a\alpha_2) + (b\alpha_1 + bk\alpha_2, 0)\| + c\|(\alpha_1 + k\alpha_2, 0)\| \\ &= |a\alpha_1 + b\alpha_1 + bk\alpha_2| + a|\alpha_2| + c|\alpha_1 + k\alpha_2|. \end{aligned}$$

Necessity. Let Y_k be an (a, B, c) -ideal in ℓ_∞^2 with respect to the ideal projection $P_{x,k}$.

For every $(\alpha_1, \alpha_2) \in \ell_1^2$ and every $b \in B$ we have

$$|a\alpha_1 + b\alpha_1 + bk\alpha_2| + a|\alpha_2| + c|\alpha_1 + k\alpha_2| \leq |\alpha_1| + |\alpha_2|.$$

Choosing $(\alpha_1, \alpha_2) = (1, 0)$, and $(\alpha_1, \alpha_2) = (0, 1)$, we obtain that condition (1) holds.

Sufficiency. Note that in case conditions (1) hold, we have

$$\begin{aligned} & \|a(\alpha_1, \alpha_2) + bP_{x,k}(\alpha_1, \alpha_2)\| + c\|P_{x,k}(\alpha_1, \alpha_2)\| \\ &= |a\alpha_1 + b\alpha_1 + bk\alpha_2| + a|\alpha_2| + c|\alpha_1 + k\alpha_2| \\ &\leq (|a + b| + c)|\alpha_1| + (a + b|k| + c|k|)|\alpha_2| \\ &\leq |\alpha_1| + |\alpha_2| \\ &= \|(\alpha_1, \alpha_2)\|, \end{aligned}$$

hence Y_k is an (a, B, c) -ideal in ℓ_∞^2 . \square

The following assertions can be proven similarly.

Proposition 2.5. Y_k is an (a, B, c) -ideal in ℓ_∞^2 with respect to an ideal projection $P_{y,k}$ if and only if $|k| \geq 1$ and

$$\begin{cases} |a + b| + c \leq 1 & \forall b \in B, \\ \frac{a|k| + |b| + c}{|k|} \leq 1 & \forall b \in B. \end{cases}$$

Proposition 2.6. Y_k is an (a, B, c) -ideal in ℓ_∞^2 with respect to an ideal projection P_{d^+} if and only if

$$\begin{cases} k = 1, \\ d \geq 0, \\ \frac{|ad + a + bd| + |b| + cd + c}{d + 1} \leq 1 & \forall b \in B, \\ \frac{|ad + a + b| + |b|d + cd + c}{d + 1} \leq 1 & \forall b \in B. \end{cases}$$

Proposition 2.7. Y_k is an (a, B, c) -ideal in ℓ_∞^2 with respect to an ideal projection P_{d^-} if and only if

$$\begin{cases} k = -1, \\ d \leq 0, \\ \frac{|a - ad - bd| + |b| - cd + c}{1 - d} \leq 1 & \forall b \in B, \\ \frac{|a - ad + b| - |b|d - cd + c}{1 - d} \leq 1 & \forall b \in B. \end{cases}$$

Proposition 2.8. Y_∞ is an (a, B, c) -ideal in ℓ_∞^2 if and only if

$$\begin{cases} a \leq 1, \\ |a + b| + c \leq 1 & \forall b \in B. \end{cases}$$

From Propositions 2.4–2.8, one obtains the following corollaries.

Corollary 2.9. Y_∞ and Y_0 are the only M -ideals in ℓ_∞^2 .

Corollary 2.10. $Y_0, Y_\infty, Y_1, Y_{-1}$ are the only u -ideals in ℓ_∞^2 .

3. Transitivity of (a, B, c) -ideals

In this section, we rely on [6] and extend its results to a more general (a, B, c) -setting. We obtain the following results. If X is an (a, B, c) -ideal in Y and Y is a (d, E, f) -ideal in Z , then X is a certain type of ideal in Z (see Theorem 3.3). If X is an (a, B, c) -ideal in its bidual, then X is a certain type of ideal in $X^{(2n)}$ for every $n \in \mathbb{N}$ (see Theorem 3.13).

If Y is a subspace of a Banach space Z , a linear operator $\varphi: Y^* \rightarrow Z^*$ is called a *Hahn-Banach extension operator* if φy^* is a norm-preserving extension of y^* for all y^* in Y^* . The following propositions are well known and straightforward to prove.

Proposition 3.1. *If $\varphi: X^* \rightarrow Y^*$ and $\psi: Y^* \rightarrow Z^*$ are Hahn-Banach extension operators, then $\psi\varphi: X^* \rightarrow Z^*$ is also a Hahn-Banach extension operator.*

Proposition 3.2. *Y is an ideal in X with respect to an ideal projection P if and only if there is a Hahn-Banach extension operator $\varphi: Y^* \rightarrow X^*$ such that $P = \varphi i_{YX}^*$.*

Assume that X and Y are closed subspaces of a Banach space Z such that $X \subset Y \subset Z$. The first of our two main results is the following theorem.

Theorem 3.3. *Let X be an (a, B, c) -ideal in Y .*

- (1) *If Y is an ideal in Z , then X is an $\left(\frac{a}{2a+1}, \frac{B}{2a+1}, \frac{c}{2a+1}\right)$ -ideal in Z .*
- (2) *Assume that $d > 0$, $f \geq 0$ and $a|d+e|+d \geq af$ for all $e \in E$, where E is a compact set of scalars. If Y is a (d, E, f) -ideal, then X is an $\left(\frac{ad}{\gamma}, \frac{dB}{\gamma}, \frac{cd}{\gamma}\right)$ -ideal in Z , where $\gamma := a + d - af + a \min |d + E|$.*

Proof. Let P and Q be corresponding ideal projections on X^* and Y^* respectively. By Propositions 3.1 and 3.2, we have that $P = \varphi i_{XY}^*$ and $Q = \psi i_{YZ}^*$ for some Hahn-Banach extension operators $\varphi: X^* \rightarrow Y^*$ and $\psi: Y^* \rightarrow Z^*$, therefore $R = \psi\varphi i_{XZ}^*$ is an ideal projection with $\ker R = X^\perp$. Note that one can write $R = \psi P i_{YZ}^*$.

- (1) For every $z^* \in Z^*$, we have

$$\begin{aligned} \|az^* + bRz^*\| + c\|Rz^*\| &= \|az^* + b\psi P i_{YZ}^* z^* + a\psi i_{YZ}^* z^* - a\psi i_{YZ}^* z^*\| \\ &\quad + c\|\psi P i_{YZ}^* z^*\| \\ &\leq \|az^* - a\psi i_{YZ}^* z^*\| + \|\psi(bP i_{YZ}^* z^* + a i_{YZ}^* z^*)\| \\ &\quad + c\|\psi P i_{YZ}^* z^*\| \\ &= \|az^* - a\psi i_{YZ}^* z^*\| + \|a i_{YZ}^* z^* + bP i_{YZ}^* z^*\| \\ &\quad + c\|P i_{YZ}^* z^*\| \end{aligned}$$

$$\begin{aligned} &\leq a\|z^* - Qz^*\| + \|i_{YZ}^*z^*\| \\ &\leq (2a + 1)\|z^*\|, \end{aligned}$$

since X is an (a, B, c) -ideal in Y . This result yields that X is an $\left(\frac{a}{2a+1}, \frac{B}{2a+1}, \frac{c}{2a+1}\right)$ -ideal in Z .

(2) In case Y is a (d, E, f) -ideal in Z , we have

$$\|dz^* + eQz^*\| + f\|Qz^*\| \leq \|z^*\| \quad \forall e \in E, \forall z^* \in Z^*.$$

Since $d > 0$, we can write

$$\left\|z^* + \frac{e}{d}Qz^*\right\| \leq \frac{\|z^*\|}{d} - \frac{f}{d}\|Qz^*\| \quad \forall e \in E, \forall z^* \in Z^*.$$

We proceed similarly to part (1). For every $z^* \in Z^*$, we have

$$\begin{aligned} \|az^* + bRz^*\| + c\|Rz^*\| &\leq a\|z^* - Qz^*\| + \|i_{YZ}^*z^*\| \\ &= a\left\|z^* + \frac{e}{d}Qz^* - \left(1 + \frac{e}{d}\right)Qz^*\right\| + \|i_{YZ}^*z^*\| \\ &\leq a\left\|z^* + \frac{e}{d}Qz^*\right\| + a\left\|\left(1 + \frac{e}{d}\right)Qz^*\right\| + \|i_{YZ}^*z^*\| \\ &\leq \frac{a}{d}\|z^*\| - \frac{af}{d}\|Qz^*\| + a\left|1 + \frac{e}{d}\right|\|Qz^*\| + \|i_{YZ}^*z^*\| \\ &\leq \left(1 + \frac{a}{d} - \frac{af}{d} + a\left|1 + \frac{e}{d}\right|\right)\|z^*\|, \end{aligned}$$

hence X is an $\left(\frac{ad}{\gamma}, \frac{dB}{\gamma}, \frac{cd}{\gamma}\right)$ -ideal in Z . □

From Theorem 3.3, one immediately obtains the following results.

Corollary 3.4 (cf. [6, Theorem 1]). *If X is an $M(r, s)$ -ideal in Y , Y is an $M(u, v)$ -ideal in Z and $v \geq su$, then X is an $M\left(\frac{rv}{s(1-u)+v}, \frac{sv}{s(1-u)+v}\right)$ -ideal in Z .*

Corollary 3.5. *If X is an h -ideal in Y and Y is an h -ideal in Z , then X is an $\left(\frac{1}{3}, \left\{-\frac{1+\lambda}{3} : \lambda \in S_{\mathbb{C}}\right\}, 0\right)$ -ideal in Z .*

Corollary 3.6. *If X is a u -ideal in Y and Y is u -ideal in Z , then X is an $\left(\frac{1}{3}, \left\{-\frac{2}{3}\right\}, 0\right)$ -ideal in Z .*

Corollary 3.7. *If X is an M -ideal in Y and Y is a u -ideal in Z , then X is an $\left(\frac{1}{3}, \left\{-\frac{1}{3}\right\}, \frac{1}{3}\right)$ -ideal in Z .*

Corollary 3.8. *If X is an (a, B, c) -ideal in Y , $a \leq 1$, and Y is an M -ideal in Z , then X is an (a, B, c) -ideal in Z .*

Corollary 3.9 (cf., e.g., [8, Proposition 1.17]). *If X is an M -ideal in Y and Y is an M -ideal in Z , then X is an M -ideal in Z .*

The following propositions are preliminary work for the proof of our second main result, Theorem 3.13. We generalize analogous results from [6], which concerned $M(r, s)$ -ideals.

Proposition 3.10. *Let Y be a closed subspace of a Banach space X . If there is a norm one projection $Q: X \rightarrow X$ such that $\text{ran } Q = Y$ and*

$$\|ax + bQx + cQz\| \leq \max\{\|x\|, \|z\|\} \quad \forall b \in B, \quad \forall x, z \in X,$$

then Y is an (a, B, c) -ideal in X .

Proof. Consider the ideal projection $P := Q^*$. Choose $(x_n), (z_n) \subset B_X$ so that

$$\begin{aligned} \text{Re}((ax^* + bPx^*)(x_n)) &\rightarrow \|ax^* + bPx^*\|, \\ \text{Re}(cPx^*(z_n)) &\rightarrow \|cPx^*\| \end{aligned}$$

then by assumption $(ax_n + bQx_n + cQz_n) \subset B_X$. For every $x^* \in X^*$, we have

$$\begin{aligned} \|x^*\| &\geq |x^*(ax_n + bQx_n + cQz_n)| \\ &\geq \text{Re}((ax^* + bPx^*)(x_n)) + \text{Re}(cPx^*(z_n)) \\ &\rightarrow \|ax^* + bPx^*\| + c\|Px^*\| \end{aligned}$$

and hence

$$\|ax^* + bPx^*\| + c\|Px^*\| \leq \|x^*\| \quad \forall b \in B, \quad \forall x^* \in X^*,$$

which means that Y is an (a, B, c) -ideal in X . \square

Proposition 3.11. *If Y is an (a, B, c) -ideal in X , then $Y^{\perp\perp}$ is an (a, B, c) -ideal in X^{**} .*

Proof. Let P be a corresponding ideal projection on X^* . Consider a norm one projection $P^*: X^{**} \rightarrow X^{**}$. For every $y^{**}, z^{**} \in X^{**}$, and $x^* \in X^*$, we have

$$\begin{aligned} \|(ay^{**} + bP^*y^{**} + cP^*z^{**})(x^*)\| &\leq \|(ay^{**} + bP^*y^{**})x^*\| + \|cP^*z^{**}(x^*)\| \\ &\leq \|y^{**}\| \|ax^* + bPx^*\| + \|z^{**}\| \|cP(x^*)\| \\ &\leq \max\{\|y^{**}\|, \|z^{**}\|\} (\|ax^* + bPx^*\| \\ &\quad + c\|P(x^*)\|) \\ &\leq \max\{\|y^{**}\|, \|z^{**}\|\} \|x^*\|, \end{aligned}$$

hence

$$\|ay^{**} + bP^*y^{**} + cP^*z^{**}\| \leq \max\{\|y^{**}\|, \|z^{**}\|\}.$$

Note that $\text{ran } P^* = (\ker P)^{\perp} = (Y^{\perp})^{\perp} = Y^{\perp\perp}$. By Proposition 3.10, $Y^{\perp\perp}$ is an (a, B, c) -ideal in X^{**} . \square

Proposition 3.12. *If a closed subspace Y of a Banach space X is an (a, B, c) -ideal in X and T is a linear isometry from X onto a Banach space W , then $T(Y)$ is an (a, B, c) -ideal in W .*

Proof. Let P be a corresponding ideal projection on X^* , then $P = \varphi i_{YX}^*$ for some Hahn-Banach extension operator $\varphi: Y^* \rightarrow X^*$. Let $R = (T^{-1})^* \varphi S^* i_{T(Y)W}^*$, where $S: Y \ni y \mapsto Ty \in T(Y)$.

Note that $(T^{-1})^* \varphi S^*: T(Y)^* \rightarrow W^*$ is a Hahn-Banach extension operator, therefore R is an ideal projection on W^* . Since $i_{T(Y)W}^* = (S^{-1})^* i_{YX}^* T^*$, we can write $R = (T^{-1})^* P T^*$.

For every $w^* \in W^*$, we have

$$\begin{aligned} \|aw^* + bRw^*\| + c\|Rw^*\| &= \|aw^* + b(T^{-1})^* P T^* w^*\| \\ &\quad + c\|(T^{-1})^* P T^* w^*\| \\ &\leq \|(T^{-1})^*\| \|aT^* w^* + bP T^* w^*\| \\ &\quad + c\|(T^{-1})^*\| \|\varphi P T^* w^*\| \\ &= \|aT^* w^* + bP T^* w^*\| + c\|P T^* w^*\| \\ &\leq \|T^* w^*\| \leq \|T^*\| \|w^*\| = \|w^*\|, \end{aligned}$$

hence, $T(Y)$ is an (a, B, c) -ideal in W . □

The following is our second main result.

Theorem 3.13. *If X is an (a, B, c) -ideal in X^{**} , $a > 0$, and $|a + b| + 1 \geq c$ for all $b \in B$, then X is an $\left(\frac{a}{\gamma_n}, \frac{B}{\gamma_n}, \frac{c}{\gamma_n}\right)$ -ideal in $X^{(2n)}$ for every $n \in \mathbb{N}$, where $\gamma_n = n + (n - 1) \min |a + B| - (n - 1)c$.*

Proof. We prove the assertion by induction on n . Assume that X (that is, $(j_{X^{(2n-2)}} \dots j_X)(X)$) is an $\left(\frac{a}{\gamma_n}, \frac{B}{\gamma_n}, \frac{c}{\gamma_n}\right)$ -ideal in $X^{(2n)}$. Note that this holds for $n = 1$.

Let $A = j_{X^{(2n-2)}} \dots j_X: X \rightarrow X^{(2n)}$. Consider a linear onto isometry $T: X^{**} \rightarrow \text{ran } A^{**}$ defined by $Tx^{**} = A^{**}x^{**}$ for all $x^{**} \in X^{**}$.

Also note that

$$\text{ran } A^{**} = (\ker A^*)^\perp = (\text{ran } A)^{\perp\perp} = ((j_{X^{(2n-2)}} \dots j_X(X))^{\perp\perp}$$

and

$$\begin{aligned} T(j_X(X)) &= (j_{X^{(2n-2)}} \dots j_X)^{**}(j_X(X)) \\ &= j_{X^{(2n-2)}}^{**} \dots j_X^{**} j_X(X) \\ &= j_{X^{(2n)}} \dots j_{X^{**}} j_X(X). \end{aligned}$$

Since $j_X(X)$ is an (a, B, c) -ideal in X^{**} and T is a linear isometry from X^{**} onto $((j_{X^{(2n-2)}} \dots j_X(X))^{\perp\perp})$, we obtain by Proposition 3.12 that $T(j_X(X)) = j_{X^{(2n)}} \dots j_{X^{**}} j_X(X)$ is an (a, B, c) -ideal in $((j_{X^{(2n-2)}} \dots j_X(X))^{\perp\perp})$.

By the inductive assumption, $(j_{X^{(2n-2)}} \dots j_X)(X)$ is an $\left(\frac{a}{\gamma_n}, \frac{B}{\gamma_n}, \frac{c}{\gamma_n}\right)$ -ideal in $X^{(2n)}$ and by Proposition 3.11 we get that $((j_{X^{(2n-2)}} \dots j_X)(X))^{\perp\perp}$ is an $\left(\frac{a}{\gamma_n}, \frac{B}{\gamma_n}, \frac{c}{\gamma_n}\right)$ -ideal in $X^{(2n+2)}$.

We can now apply Theorem 3.3, which yields that $j_{X^{(2n)}} \dots j_{X^{**}} j_X(X)$ is an $\left(\frac{ad}{\gamma}, \frac{dB}{\gamma}, \frac{cd}{\gamma}\right)$ -ideal in $X^{(2n+2)}$, where

$$\begin{aligned} a &= a, & B &= B, & c &= c, \\ d &= \frac{a}{n + (n-1) \min |a+B| - (n-1)c}, \\ E &= \frac{B}{n + (n-1) \min |a+B| - (n-1)c}, \\ f &= \frac{c}{n - (n-1)c + (n-1) \min |a+B|}. \end{aligned}$$

Hence

$$\begin{aligned} \gamma &= a + d - af + a \min |d + E| \\ &= a + \frac{a}{n + (n-1) \min |a+B| - (n-1)c} \\ &\quad - a \cdot \frac{c}{n + (n-1) \min |a+B| - (n-1)c} \\ &\quad + a \min \left| \frac{a}{n + (n-1) \min |a+B| - (n-1)c} \right. \\ &\quad \left. + \frac{B}{n + (n-1) \min |a+B| - (n-1)c} \right| \\ &= a \cdot \frac{(n+1) + n \min |a+B| - nc}{n + (n-1) \min |a+B| - (n-1)c} \end{aligned}$$

and

$$\frac{ad}{\gamma} = \frac{a}{\gamma_{n+1}}, \quad \frac{dB}{\gamma} = \frac{B}{\gamma_{n+1}}, \quad \frac{cd}{\gamma} = \frac{c}{\gamma_{n+1}},$$

which means that $j_{X^{(2n)}} \dots j_{X^{**}} j_X(X)$ is an $\left(\frac{a}{\gamma_{n+1}}, \frac{B}{\gamma_{n+1}}, \frac{c}{\gamma_{n+1}}\right)$ -ideal in $X^{(2n+2)}$, as desired. \square

The following results are immediate from Theorem 3.13.

Corollary 3.14 (cf. [6, Theorem 6]). *If X is an $M(r, s)$ -ideal in X^{**} , then X is an $M\left(\frac{r}{r+n(1-r)}, \frac{s}{r+n(1-r)}\right)$ -ideal in $X^{(2n)}$.*

Corollary 3.15. *If X is an h -ideal in X^{**} , then X is an $\left(\frac{1}{2n-1}, \left\{-\frac{1+\lambda}{2n-1} : \lambda \in S_{\mathbb{C}}\right\}, 0\right)$ -ideal in $X^{(2n)}$.*

Corollary 3.16. *If X is a u -ideal in X^{**} , then X is an $\left(\frac{1}{2n-1}, \left\{-\frac{2}{2n-1}\right\}, 0\right)$ -ideal in $X^{(2n)}$.*

Corollary 3.17 (cf. [13, Theorem 2]). *If X is an M -ideal in X^{**} , then X is an M -ideal in $X^{(2n)}$ for every $n \in \mathbb{N}$.*

Acknowledgements

This research was partially supported by Estonian Science Foundation Grant 8976 and Estonian Targeted Financing Project SF0180039s08. The authors are grateful to Eve Oja, Märt Põldvere and Jaan Vajakas for their valuable remarks and suggestions.

References

- [1] E. M. Alfsen and E. G. Effros, *Structure in real Banach spaces. Parts I and II*, Ann. of Math. **96** (1972), 98–173.
- [2] P. G. Casazza and N. J. Kalton, *Notes on approximation properties in separable Banach spaces*, in: Geometry of Banach spaces, Proc. Conf. Strobl (1989) (P. F. X. Müller and W. Schachermayer, eds.), London Math. Soc. Lecture Note Series **158**, Cambridge Univ. Press, Cambridge, 1990, pp. 49–63.
- [3] J. C. Cabello, E. Nieto, and E. Oja, *On ideals of compact operators satisfying the $M(r, s)$ -inequality*, J. Math. Anal. Appl. **220** (1998), 334–348.
- [4] G. Godefroy, N. J. Kalton, and P. D. Saphar, *Idéaux inconditionnels dans les espaces de Banach*, C. R. Acad. Sci. Paris, Sér. I Math. **313** (1991), 845–849.
- [5] G. Godefroy, N. J. Kalton, and P. D. Saphar, *Unconditional ideals in Banach spaces*, Studia Math. **104** (1993), 13–59.
- [6] R. Haller, *On transitivity of $M(r, s)$ -inequalities and geometry of higher duals of Banach spaces*, Acta Comment. Univ. Tartu. Math. **6** (2002), 9–13.
- [7] R. Haller, M. Johanson, and E. Oja, *$M(r, s)$ -ideals of compact operators*, Czechoslovak Math. J. **62** (2012), 673–693.
- [8] P. Harmand, D. Werner, and W. Werner, *M -Ideals in Banach spaces and Banach algebras*, Lecture Notes in Mathematics **1547**, Springer-Verlag, Berlin, 1993.
- [9] E. Oja, *Géométrie des espaces de Banach ayant des approximations de l'identité contractantes*, C. R. Acad. Sci. Paris, Sér. I Math. **328** (1999), 1167–1170.
- [10] E. Oja, *Geometry of Banach spaces having shrinking approximations of the identity*, Trans. Amer. Math. Soc. **352** (2000), 2801–2823.
- [11] E. Oja and M. Põldvere, *Norm-preserving extensions of functionals and denting points of convex sets*, Math. Z. **258** (2008), 333–345.

- [12] E. Oja and I. Zolk, *On commuting approximation properties of Banach spaces*, Proc. Royal Soc. Edinb. **139A** (2009), 551–565.
- [13] T. S. S. R. K. Rao, *On the geometry of higher duals of a Banach space*, Illinois J. Math. **45** (2001), 1389–1392.

FACULTY OF MATHEMATICS AND COMPUTER SCIENCE, TARTU UNIVERSITY, J. LIIVI 2,
50409 TARTU, ESTONIA

E-mail address: `ksenia.niglas@ut.ee`

E-mail address: `indrek.zolk@ut.ee`